

$$ii. x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$W_1 = x^2 y''$$

$$U^0 = U = y''$$

$$U' = y''', U'' = y''''$$

$$U^n = y^{n+2}$$

$$V = x^2, V' = 2x, V'' = 2$$

$$V''' = 0$$

$$W_2 = x y'$$

$$U^0 = U = y'$$

$$U' = y'', U'' = y'''$$

$$U^n = y^{n+1}$$

$$V = x, V' = 1, V'' = 0$$

$$W_3 = y$$

$$U = y$$

$$U' = y', U'' = y''$$

$$U^n = y^n$$

$$V = 1, V' = 0$$

$$W_1^n = {}^n C_0 U^{n-0} V^0 + {}^n C_1 U^{n-1} V' + {}^n C_2 U^{n-2} V''$$

$$= U^n V + n U^{n-1} V' + \frac{n(n-1)}{2!} U^{n-2} V''$$

$$= y^{n+2} V + n y^{n+1} 2x + \frac{n(n-1)}{2} y^n x$$

$$= y^{n+2} V + n y^{n+1} 2x + (n-1)n y^n$$

$$= y^n [y^2 x^2 + n y^2 x + n(n-1)]$$

$$W_2^n = {}^n C_0 U^{n-0} V^0 + {}^n C_1 U^{n-1} V' + {}^n C_2 U^{n-2} V'' + {}^n C_3 U^{n-3} V'''$$

$$= U^n V + n U^{n-1} V' + \frac{(n-1)n}{2!} U^{n-2} V'' + 0$$

$$= y^{n+1} \cdot x + n y^n \cdot 1 + 0$$

$$= y^n (xy + n)$$

$$W_3^n = {}^n C_0 U^{n-0} V^0 + {}^n C_1 U^{n-1} V'$$

$$= U^n V + 0$$

$$= y^n$$

$$y'' - 2y'(2x+1) - 2y = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2ny^n - 2y^n = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2y^n(n+1) = 0$$

$$y^{n+2} = y^{n+1}(2x+1) + 2y^n(n+1)$$

2.  $y = x^3 e^{4x}$

$$v = x^3, v' = 3x^2, v'' = 6x, v''' = 6$$

$$u = e^{4x}, u' = 4e^{4x}, u'' = 16e^{4x}, u''' = 64e^{4x}$$

$$y^n = {}^n C_0 u^{n-0} v^0 + {}^n C_1 u^{n-1} v^1 + {}^n C_2 u^{n-2} v^2 + {}^n C_3 u^{n-3} v^3$$

$$= v^n v' + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} u^{n-3} v'''$$

$$= 4^n e^{4x} \cdot x^3 + n 4^{n-1} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2} 4^{n-2} e^{4x} \cdot 6x + \frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4x} \cdot 6$$

$$\frac{4^{n-3} e^{4x} \cdot 6}{6} = 4^{n-3} e^{4x}$$

$$= 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} \cdot 3x^2 + n(n-1) 4^{n-2} e^{4x} \cdot 3x + \frac{n(n-1)(n-2)}{4^{n-3} e^{4x}}$$

~~Ans~~ ~~Ans~~

$$= 4^{n-3} e^{4x} [4^3 x^3 + n 4^2 \cdot 3x^2 + n(n-1) 4 \cdot 3x + n(n-1)(n-2)]$$

$$= 4^{n-3} e^{4x} [64x^3 + n 48x^2 + 12(n-1)x + n(n-1)(n-2)]$$

$$y^5 = 4^{5-3} e^{4x} [64x^3 + (5 \times 48)x^2 + 12 \times 5(5-1)x + 5(5-1)(5-2)]$$

$$y^5 = 16 e^{4x} [64x^3 + 240x^2 + 240x + 60]$$

1.

$$y = e^{x^2+x}$$

$$y' = (2x+1)e^{x^2+x}$$

where:  $u = 2x+1$ ,  $v = e^{x^2+x}$

$$\frac{du}{dx} = 2$$

$$\frac{dv}{dx} = (2x+1)e^{x^2+x}$$

$$y'' = u \frac{du}{dx} v + v \frac{dv}{dx}$$

$$y'' = (2x+1)(2x+1)e^{x^2+x} + e^{x^2+x}(2)$$

$$y'' = y'(2x+1) + 2y$$

From Leibnitz Theorem

$$y'' - y'(2x+1) - 2y = 0$$

$$w_1 = y''$$

$$v = 1$$

$$u^n = y^{n+2}$$

$$w = y'$$

$$v' = 0$$

$$m_1 = {}^n C_2 u^{n-2} v^{-4}$$

$$= y^{n+2}$$

$$w_2 = y'(2x+1)$$

$$v = 2x+1$$

$$u = y'$$

$$v' = 2$$

$$u^n = y^{n+1}$$

$$v_1^n = {}^n C_0 u^{n-0} v^0 + {}^n C_1 u^{n-1} v^1$$

$$v^n = 0$$

$$= u^n v + n u^{n-1} v'$$

$$= y^{n+1}(2x+1) + n y^n \cdot 2$$

$$w_3 = 2y$$

$$u = y'$$

$$v = 2, v' = 0$$

$$u^n = y^n$$

$$w_3^n = {}^n C_0 u^{n-0} v$$

$$= 2y^n$$

$$x^2 y'' + xy' + y = 0$$

$$w_1 + w_2 + w_3 = 0$$

$$y' [y^2 x^2 + n 2xy + n(n-1)] + y' (xy + n) + y' = 0$$

⊗ Ax.  $x=0$

$$y^n n(n-1) + y^n n + y^n = 0$$

$$n(n-1) + n + 1 = 0$$

$$y^n - y^n n(n-1) - ny^n$$

$n=1$

$$y = -0 - y'$$
$$y = -y'$$

$$\Rightarrow x^2 y^{n+2} + n 2xy^{n+1} + n(n-1)y^n + xy^{n+1} + ny^n + y' = 0$$

$$\Rightarrow x' y^{n+2} + x y^{n+1} (2n+1) + y' (n^2 - n + n + 1) = 0$$

$$\Rightarrow x' y^{n+2} + (2n+1) x y^{n+1} + (n^2 + 1) y' = 0$$

✓